Roots of Quadratic Equations
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The equation x? + 2px + (3p +4) =0, where p is a positive constant, has equal roots.

(@) Find the value ofp

(%) For this value ofp, solve the equation x2 + 2px + (3p +4) =0.




[image: image2.emf]
[image: image3.png]e
bl

7. The equation X' +iv+(r+3)= 0, where ks a constant, has different real roots

(a) Show that &’ —4k—12 > 0.

(b) Find the set of possible values of .
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[image: image4.png]8. The equation
¥ehee8=k
‘has no real sofutions for x.

(a) Show that & satisies k* + 4k =32 <0.
®

(b) Hence find the set of possible values of £
@




[image: image5.png]8. Given that the equation 2qx° + g — 1 =0, where g is a constant, has 1o real roots,
(@) show that ¢ + 8 < 0.

(b) Hence find the set of possible values of g
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The equation kx?+ 4x + (5 — k) = 0, where k is a constant, has 2 different real solutions
forx.

(a) Show that k satisfies
P-5k+4>0.

®

(b) Hence find the set of possible values of k.
“@




6. The equation x2 + 3px + p = 0, where p is a non-zero constant, has equal roots.

Find the value of p.

